107 & ’\zz~4 ﬁ#*%é MR R >_ 3
I

[T m O - 107& B A "~ gL 110230 -
IV ﬁ;t}l;‘:’\ Z"{ﬁj‘zé‘ﬂé‘%{ (.L‘ﬁ>
=1 Fé wJ:FMMﬁ%”éé

Ex TN S

5 P E g

il RNl

T RPERF 2] pF I

LR T OF R EIFEE

O L)AL (FF PR MAELE E R EREA B AFEL L A IFE K > 2334 o
@ FLp nl/TjgyFm FAHIT OGN B AR FIFE o

TP X8 EAARE (TRE- B s o I 2E R 0 APM T AT S

ILifeip 2t X8# 1% 19 $600,000 X9# 10* 1p $480,000
X9# 3% 1p 512,500 X10# 3% 1p 360,000
2X8 & 10" 473 12" KFRe B R RsPE1 ezl 3B -
3.X8#& 1% 1p 588 5% %H$L000000 58 > 15 5%>##& 127 31 p
i A
4.8 lqﬂ'XSﬁ&”’?ﬁ 10 & #p = & 7 $1,400,000 > 15 1 10% >+ & 12 % 31 p 4 4 o
X7&w%ﬁ6ﬁﬂ4?%&ﬂmm0§§ 8% % & 127 31 p i 4 -
5X8#E 2P M-h R WA AT BRI R LT 0 A4 14 Je » $24,000 -
6. X9 # 12 * 31 p = 3| ¥/t 4 20 $300,000 - ’fﬁEl’ w‘*xt‘,—,\fﬁ E S e
RIE
OX8EFILF A 23 - (34)
OXOE#LF A &3 -(84)
EF 5 X10&32 Rzl >3 E XI0&FLF A1 238 - (84)
MF X100 & 3% A=1 P RHFAU/RS 55 ,1$2000000 B X10&# 9% 1p
TV > ptatt 2125 F o AR E O NERFEINITE - ET 2P X1I0#
BRITER * 2 |2 scfipat B ja r 2 (6 4)

PPN X8 ERE - AR LB o i&f;éﬁ”’iiﬂ’a"%O’f’rwf% - 30%

& 1 BEHET AR T F' -53-);$5 Iric ﬁb@éﬁiﬁ* TIHP P o 32 BREcHR AR R
FAETEE ARREFELLL A F"‘ﬁ'tﬁ%&“r@ﬁgi K- Mo 5 & 3% -
X8 -&Fé‘} : ’\:’{rﬁ"@'ﬁr‘%’li)‘$1500000’ = & % $675,000 > = % Jd)2kfc 30,000 ‘31&—- )

FAEHF 24,000 B £ Ak AL jﬂ%%%&v?ﬁﬁiﬁwh#iﬂ%
F&4®%&mﬁﬁ%%nm)@ﬁ;XNﬁW%“%&#m%&ﬂ puamgx
6,000 2% 20008k 7 2 722 X9 & & & X10 & & 3+ B {5 4 W] 22,000 2% 20,000 2
AL FE o

gf;f’t:

OX8EREE LB HPM2Z 2 dreo (2T »33 2) (104)
OXOERR L LB HAM 2 e (2T 223 ~2) (54)
EX10 EAEE L B2 Adro (T » B3 <) (54)



107 & '\z2~4 ﬁ#*ﬁé MR >_ 3
IR m A B F 2 107& B EH b gL 0 10230 (% 5)
V! 353;&47%45%”3535% o
sk wJ:FMzM Ay

I

IR S g
LR
P g g

B AFANX6E 1Y 1p U$922779 R~ o > FHF T2 2 P G 0 % §1$1,000,000 0 &

BAIF A% £ 120 3L p AL XI6F 10 LRI f Rl 5% o
Lbﬁﬁﬁ&\ﬁﬁézﬁﬁ@ ,—rra‘ﬁ'_‘,_;}ié-é }Ul% IE'@J‘E&\FI ﬂé}%{'_&ﬁ;]a%"){6j}}%},
X7ﬁ%1%7%41)5@B@%Wﬂﬁwyh%T%%fm%’f'?%Q?%

'

X6# 127 31p X7# 127 317
2N Bk $863,968 $1,070,198
Sk 6% 3%
120 7 SEHF b G4 10,000 8,000

RIT L

OX6# 127 31p F HOFFHRFT2AAMA & (28T »B312) (11 4)

OX7# 127 31p 3 W27 GAFT2ApM A & e (uu rPeEA) (13 4)

EBEXXBEL? 197 2 AT 27 GRFTERILLAHF L BEFER2 2 H
EHEFSHT REXBEL? LpErfz Sk (64)

AP X104#E 10 1p B4y EoX1I0ER X1 E R E X12 & B2 fw § i1

4 %] % $1,000,000 ~ $800,000 # $900,000 > X10 # 3 X12 & fF 25 25% > p X13 &

AcfFern 20% o H s FoRl4eT

I.X10 # 4P~ 8 B - 30 > = 281,800,000 > 7f* 2 A5 & > maE » 7 otk F K
Eﬁ%ﬁwhg’%@ﬁ&ﬁ&APmo

2.X10 £ B faw € -k ¢ 7% %5 2 5 #71$60,0000 ke frit R TH S 2 b AT Ao

3.X11 & B fuw g 3Hx e g;%fwjﬁ%ooooo’ Tjdg L DR pLpE R F AR o

4X12 & 17 1 pHRLHF Ll E 581,200,000 &2 £ 3 E$120,000 > F| 4 &
L3 EHERE - 2PHAFITEREFEZ L E-HET T FEXI2 £ 2
RRLATE 7}3%,:}5"15@3?&@7‘“7% Fa FREOHMAA > " 27 AFREGH E BT A
%5']%%5']?%3’&%"

E=RAa

(X10 # 2 X11 & § B 7 Lz A 4k o (14 4 )

OX12#& 17 1p FAERE X12 &£ RIATHE fuz &4k (11 4 )



